MATH 202 Quiz 5 — Version A
September 29, 2015
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Instructions: No calculators! Use your own scrap paper and write your answers in the space provided.

1. Complete the following identities:

: e T8 ) 2
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(i) sin® x = o (half-angle formula) (k) sinh x = -
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5. Integrate:
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6. The half-life of cesium-137 is 30 years. Suppose we have a 150 gram sample. Let P(t) be the mass remaining
after t years. i /o Inlg) 7O
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(a) Find a differential equation satisfied by P(t): 20 = 2o "
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(b) Find P(t) and simplify: P(t) = _1 502 *° v Y =150 e SRS E=lalne.. o,
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(c) How much mass remains after 80 years? 120 2. s 1508 or 15647 o (Seyel\V3

(d) After how many years will the mass be reduced to 1 gram? _ 20 \\’\ 150 yeare

I' i L
Bonus: "

1. fxsinxdx: —XCOEX 4+ Cin L C

N
|

EI R S
2. fcoszxdx: P’Z(’/"" = Sth LX) 4 C




